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Question Number : 1 Question Id : 41652910406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The diameter and height of a cylinder are
measured by a meter scale to be 12.6 £0.1
cm and 34.2+0.1 cm, respectively. What
will be the value of its volume in
appropriate significant figures ?

Options:



41652941082, 1264.4+81.0 cm

176 3
41652941083, 426080 cm
41652941084 4264+81cm’

- 3
41650941085, S00=80cm
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Options:

41850941082, 1264.4+81.0 cm

. 5 3
41652941083, 426080 cm
41652941084, 4264 *81 cm3

& 3
41652941085, Sot0 L0 oy
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Correct Marks: 4 Wrong Marks: 1
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Two wvectors A and B have equal

magnitudes. The magnitude of [: | -E;)

is ‘n’ times the magnitude of [Z E) The

— ._>_
angle between A and B is:

Options:
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A particle starts from the origin at time t=10
and moves along the positive x-axis. The
graph of velocity with respect to time is
shown in figure. What is the position of
the particle at time t=5s?
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Options:

41652941090, Om
41652941091, oM

41652941092, 10m
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Options:

41652841090, oM

41652941091, ©om



41652941092, 10m
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Two forces PP and Q, of magnitude 2F and
3F, respectively, are at an angle 8 with each
other. If the force Q is doubled, then their
resultantalso gets doubled. Then, the angle
0is:

Options:

41652941094, J0°

o 1
41852941095, 60

41652041096, 20°

ke
416525941097, 120
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Options:

41652941094, H°

41652941095, 00°

L]
4155259410386, 0

ke
41852941097, 120
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A particle which is experiencing a force,
—r

given by F: 3i 1_7__{, undergoes a

—3 —3
displacementof d=4 i .If the particle had
a kinetic energy of 3 | at the beginning of
the displacement, whatis its kinetic energy
at the end of the displacement ?

Options:

4165259410395, 15]

416525941093, 12]

41652941100, 2J

41552541101, 10]
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Options:

4165259410395, 15]

416525941093, 12]

41652941100, 2]

41652541101, 10]
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A rigid massless rod of length 3] has two
masses attached at each end as shown in
the figure. The rod is pivoted at point P on
the horizontal axis (see figure). When
released from initial horizontal position, its
instantaneous angular acceleration will

be:
- 1 > % 21 »
SM, P 2 M,
Options:
8
21
4152941102,
B
41652941102, 3l
'?g
41652941104, 3
&
41E529411085, 131

Question Number : 6 Question Id : 41652910411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TF FAHM ed a91 3] 4R F P W D
ZoqH TearEn 59 fodl = o & qon 59
uF dfaa @19 W A P J widAtEwa o =
2| o4 79 9 9 Afae d9Tn ¥ 9 96 2
A1 ST ATeeATOre K01 =0T 2R ;

— ] — 21 >
5M, P 2M,
Options:
&
41652941102, 2
g

416525941103,



.?g
416852941104, I

&

41652941105, 191
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Correct Marks: 4 Wrong Marks: 1

Two identical spherical balls of mass M and
radius R each are stuck on two ends of a
rod of length 2R and mass M (see figure).
The moment of inertia of the system about
the axis passing perpendicularly through
the centre of the rod is:
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Two stars of masses 3 x 10°! kg each, and
atdistance 2 % 10! mrotate in a plane about
their common centre of mass O. A
meteorite passes through O moving
perpendicular to the star’s rotation plane.
In order to escape from the gravitational
field of this double star, the minimum
speed that meteorite should have at O is :

(Take Gravitational constant
G=6.67x10" " Nm? kg 2
Options:

5
41652941110, 28X 100 m/s

41652941111 8% 10t m/s

41650041110 14%10° m/s



3
1650941113 24X10°m/s
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Options:

5
41650941110, 28X 100 m/s

41652941111 38X 10% m/s

4 h
41652041112 14x 107 m/s

i I,
s1650941113 24X10°m/s

Question Number : 9 Question Id : 41652910414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

A cylindrical plastic bottle of negligible
mass is filled with 310 ml of water and left
floating in a pond with still water. If
pressed downward slightly and released,
it starts performing simple harmonic
motion at angular frequency w. If the radius
of the bottle is 2.5 ¢cm then w is close
to : (density of water =10° kg/m?)

Options:

1
41652941114, 1-20T1ad s

41652941115, 250rad s !

1
41652941116, >/ rads

. 1
41652941117 2V0rads
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Correct Marks: 4 Wrong Marks: 1
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Options:

1
41652941114, 1-20rad s

41652941115, 250rad s~ !

¥ 1
41652941116, >/orad s

; 1
41652041117 >V0rads
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Correct Marks: 4 WrongMarks: 1

Half mole of an ideal monoatomic gas is

heated at constant pressure of 1 atm from
20°C to 90°C. Work done by gas is close
to : (Gas constant R=8.31 J/mol-K)

Options:
41652841118 201 ]

416525941113, 291]

41652841120, 1401

73]
416525941121,
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Options:

41652341118 2011

416525841119, 291]

41652041120, 146]

73]
41652941121

Question Number : 11 Question Id : 41652910416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two kg of a monoatomic gas is at a pressure
of 4x104 N/m?2 The density of the gas is
8 kg/m’. What is the order of energy of
the gas due to its thermal motion ?
Options:
3
4152941122, 10 J

1
416525941123, 107]

5
41652941124, 107]

)
41652941125, 107]
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Options:
3
41652041122, 107]
4
41652941123, 0]

5
41652941124, 107]

b
41652941125, 107]
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Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
A particle executes simple harmonic
motion with an amplitude of 5 cm. When
the particle is at 4 cm from the mean
position, the magnitude of its velocity in SI
units is equal to that of its acceleration.
Then, its periodic time in seconds is:

Options:
44
3
41652941126,
B
41652941127, 2
3
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41652941129,
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A closed organ pipe has a fundamental
frequency of 1.5 kHz. The number of
overtones that can be distinctly heard by a
person with this organ pipe will be :
(Assume that the highest frequency a
person can hear is 20,000 Hz)

Options:
41652941130, ©

41652941131, 7

41652941132, 4

416525941133,
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Options:

41652941130, ©

41652941131, 7

41652941132, 4

41652541133,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A parallel plate capacitor having
capacitance 12 pF is charged by a battery
to a potential difference of 10 V between
its plates. The charging battery is now
disconnected and a porcelain slab of
dielectric constant 6.5 is slipped between
the plates. The work done by the capacitor
on the slabis :

Options:

41652941134, 208 P)



416525941135, p]

a3
41652941136, 092 P]

560 p]
416529411527,
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Options:

41652941134, 208 P

418529411355, 600 PI

iy
41652941136, 092 P]

560 pJ
41652941137,
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Charges —q and +q located at A and B,
respectively, constitute an electric dipole.
Distance AB=12a, O is the mid point of the
dipole and OP is perpendicular to AB. A
charge Q is placed at P where OP=y and
y >> 2a. The charge Q experiences an
electrostatic force F. If Q is now moved
along the equatorial line to P’ such that
b

QP = {E
3/

L

, the force on Q will be close

g |

Options:

W |

4168529411355,

416525941139, 3F

416525941140, 9F

416525941141, Ak
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Correct Marks: 4 WrongMarks: 1
Four equal pointcharges Q each are placed
in the xy plane at (0, 2), 4, 2), (4, —2) and
(0, —2). The work required to put a fifth
charge Q at the origin of the coordinate
system will be :

Options:

416525841142,
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A current of 2 mA was passed through an
unknown resistor which dissipated a
power of 44 W. Dissipated power when
anideal power supply of 11V is connected
across itis :

Options:
3y
41652941146, 11X107°W



4 a7
41652941147, 11 X107 W

5 T
41652941145, X107 W
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Options:

41652941146, 11X107°3W

4 a7
41652941147, X107 W

B AT
41652041145, X107 W

41852941149, 1x10°W
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The actual value of resistance R, shown in
the figure is 30 (). This is measured in an
experiment as shown using the standard

7

Yy
formula R= T , where V and 1 are the

readings of the voltmeter and ammeter,
respectively. If the measured value of R is
5% less, then the internal resistance of the
voltmeter is :

Options:

41652941150, 39 ()



416525941151, 5704

416525941152, 300

416525941153, on A
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Options:

41652941150, 394}

41652041151, /042

416525941152, 3500

416525941153, on A
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A hoop and a solid cylinder of same mass
and radius are made of a permanent
magnetic material with their magnetic
moment parallel to their respective axes.
But the magnetic moment of hoop is twice
of solid cylinder. They are placed in a
uniform magnetic field in such a manner
that their magnetic moments make a small
angle with the field. If the oscillation
periods of hoop and cylinder are Ty and T,
respectively, then:

Options:

41652941154, 1h= 02T

41652941155, 1h=21

41652941156, 1h Lc
T, =15T,

416525941157,

Question Number : 19 Question Id : 41652910424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T T T H 99 g0 UF goel ad1 T
2 Fo[ T ZFHA a9 e W 1 E
TEFE A0 R AT AT F IEAR T,
At Beel 1 FEahd A0 Fer= J 2 TAl
21 = EF F1 UF E, THEAE e o o
59 WE B9l oIl & T 5 JrEsg s,
T & i T3 | U B 91 H0 S
21 afz 3ol TH 9o & 2o i SAEdH
FAA: T, AT,

Options:

41652941154, T,=05T,

41652841155, 1h=21,
e e

415525941156, h c

41650041157, - BT
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At some location on earth the horizontal
component of earth’s magnetic field is
1810 % T. At this location, magnetic
needle of length 0.12 m and pole strength
1.8 Am is suspended from its mid-point
using a thread, it makes 45° angle with
horizontal in equilibrium. To keep this
needle horizontal, the vertical force that
should be applied at one of its ends is :

Options:
; 5
41652941158 6.3 X107 7 N

41652941159, 1.8X107°N

5
41652041160, 10X 107N

= 5
41652941161, 0 X 107" N
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Options:

41652941158 65 X107 ° N

41652041159, 1.8X107> N

5
41652941160, 10X 107N

= 5
41652841161, 0 X107 7N
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The self induced emt of a coil is 25 volts.
When the current in it is changed at
uniformrate rom 10 Ato25 Ain1ls, the
change in the energy of the inductance is :

Options:



4165258411672, 437.5]

416525841163, 0]

41652941164 072 ]

416525941165, 740]
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A U Feell § 97 Hl1s H THEHHE L H
10 A H 25 A T2 & a1 Freelt § =i fagq
AEF qA25 V| FUSE! il Sl H IEeH
=1 HE B
Options:
41652041162, 73]

418529411635, 540]

41652941164 0721

416525841165, 740]
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The electric field of a plane polarized
electromagnetic wave in free space at ime
t=01s given by an expression

—

E (x,y) =10 ] cos [(6x + 82)]

=
The magnetic field B (x, z, t) is given
by : (cis the velocity of light)

Options:

1~ (5k = si} cos [(6x + 8z — 10 ct)]
41652941166, ©

1 My

= (6k +8ﬁ')ms [(6x — 8z + 10 ct)]
41652941167, ©



fo| =

(Gk + 31’) cos [(6x + 8z — 10 ct)]
41652941168,

(ﬁk —s'i)cus [(6x + 82z + 10 ct)]

P

416852941169,
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T o ATHF H THae giad faga g=Ey
T Wt =0 T foeqa & f B,

_}

E (x,y) =10 ] cos [(6x + 82)]

b ._-} =
SHRITERE EA B (x, z, t) TN : (¢, THM

F1 9 7)
Options:
1 (6k sl}m [(6x + 8z — 10 ct)]
41652041166, ©
1

= (E-k +8i ) cos [(6x — 8z + 10 ct)]
41652941167, ©

(6k + 31) cos [(6x + 82z — 10 ¢t)]

| =

416525841168,

2 (5k —SI)LUS [(6x + 8z + 10 ct)]
41652941169, ©
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The eye can be regarded as a single
refracting surface. The radius of curvature
of this surface is equal to that of cornea
(7.8 mm). This surface separates two media
of refractive indices 1 and 1.34. Calculate
the distance from the refracting surface at
which a parallel beam of light will come to
focus.

Options:

41652941170, 2Cm



41652941171, 1 €M

41652941172, >-lcm

416525941173, B
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| T 21 U Ushel A9eE U8 2| 36U
&1 Fwal == FiH= F1 FF@ ==
(7.8 mm)F F & | g T2 ST 1 1
1.34 % "=l F1 YYF FLA &1 TH AR
T= g 92 9 99 W g & gera fa
TERE H ST, 2

Options:

>
41652941170, <M

41652941171, 1 ¢m

41652941172, >-lcm

416525941173, B
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Consider a Young's double slit experiment
as shown in figure. What should be the slit
separation d in terms of wavelength A such

that the first minima occurs directly in front
of the slit (5,) ?

—————————————————— 13! minima

]
Source 1

52
«—— 2 d — Screen
Options:
A
(+/5 -2)

416525941174,



416525941175,

416525941176,

2(5 - J2)

41652341177,
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e 3 e T = 3 et i % TR
TTeA A F B9 i & <= w1 aw i d
=1 2 foed ggm ffEe @i s, % 3%
[ =1 &7

T —————————————————— 15" minima
L}

Source l

e 2 d— | Screen

Options:

416525941174,

41652841175,

416525841176,

2(5 - 2)

41652841177,
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A metal plate of area 1x10 % m? is
illuminated by a radiation of intensity
16 mW/ m2. The work function of the metal
is 5 eV. The energy of the incident photons
is 10 eV and only 10% of it produces photo
electrons. The number of emitted photo
electrons per second and their maximum
energy, respectively, will be
[1eV=1.6x10"197]
Options:

10
41652941178, 10 and 5 eV

11
41652941179, 107 and 5 eV

12
41652941180, 10 -and>eV

14 T
416504111, 10 and 10eV
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1x10~ % m? &9%e1 &I 9 FH TF ©i H
16 mW/m?2 Tl & T 9 gHiea fa
WA E| U FEAEEAS5 eV Bl IAIf
IRl F el 10 eV 8 q91 Fae 10% Al
Y geige Iedfe 2id © | Wia ehve Seferd
TU Tl Flseag a9] ITH1 ATgHas e,

FHI: AT :
[fem®: 1eV=1.6x10"19]]
Options:
10
41652041178, 107 915 eV
11 7
41652941179, 107 @415 eV
12
41652941180, 10 TS5 eV
104 g1 10 eV
41652941181,
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Consider the nuclear fission
Ne20 » 2Het+C12

Given that the binding energy/ nucleon of
Ne?U, He? and C!? are, respectively,
8.03 MeV, 7.07 MeV and 7.86 MeV, identify
the correct statement :

Options:

. energy of 11.9 MeV has to be supplied

41650041157, energy of 3.6 MeV will be released

41652941184, energy of 12.4 MeV will be supplied

8.3 MeV energy will be released
41652941185, o
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Ne?0 -» 2Het + C12
73 Ne20, Het 991 C12 =1 ufa =it s=+[
Fell A 8.03 MéV, 7.07 MeV a1 7.86 MeV
Z 1 f= § F-m e T §2

Options:

41655641185 11.9 MeV &l =Rl 911 | <A1 927

41652941183, 36 MeV Full Ieafsid it

12.4 MeV Tl &1 =&t ¥ 341 92m
41652941154,

8.3 MeV &1 Iegfsd 2

416525941185,
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For the circuit shown below, the current
through the Zener diode is:

5 kel

""._.-'r'-__."l"._,-"

120 V== 750V f 10 kO

s 3

Options:
416520941186, Zero

41652041187, O MA

41652941185, 14 mA

41652941189, 2 MA
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fe& 79 ufigy § SR =EE ¥ 9w W 9

eIl

5 ki

AR A A
'\_n' (T

== A50V < 10kQ

Options:
41652041186, Zero

41652041187, o0 MA

41652041185, 14 MA

41652941189, 0 MA
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The modulation frequency of an AM radio
station is 250 kHz, which is 10% of the
carrier wave. If another AM station
approaches you for license what broadcast
frequency will you allot ?

Options:

4165259411390, 2000 kHz

41652941191, 2290 kHz

41652941192 2/°0 kHz

2900 kHz
416525941193,
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T AM a1 29H F ATgeH A9 250 kHz
%, o T SUF 9eE T g i 10% B
e wa A e wyH ey ¥ o o g
A1 =1 FA-H TH9R AghE At i 7

Options:

416525411350, 2000 kHz

41652941191, 2290 kHz

416520941192, 2/90 kHz

2900 kHz
416525941193,

Question Number : 29 Question Id : 41652910434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The Wheatstone bridge shown in Fig. here,
gets balanced when the carbon resistor used
as RI has the colour code (Orange, Red,
Brown). The resistors R, and R, are 80 ()
and 40 (), respectively.

Assuming that the colour code for the
carbon resistors gives their accurate values,
the colour code for the carbon resistor, used
as R3, would be :

R’ll-,hl"' ‘\‘L., Rz
i 1
I{:_} " /5"- Rq.
+] =
| T
Options:
41650941194 COTey, Black, Brown

4165259411395, Red, Green, Brown

41652941196, Brown, Blue, Black

Brown, Blue, Brown
41552941197,
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ey T o7 § =eEm g gqfaq g €
S e Fiod R, 1 Her HIS TR, A
T @ T Wil R, d R, A 80 Q G
400 7F

e HH g4 [ For HS e qfady &1 J0
HA T 2, Ry F FE FRH AT g0 ITH
e FIE BN

M
R Ll R,

{ )
| l‘l /\'_
- ]

Rs\l/" Ry

O

=

| 1
| I
Options:

41652941194, deiel, e, 0

416525941195, Aot

4165259411396, ¥, e, I

A, e, S
41652941197.
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An unknown metal of mass 192 g heated
to a temperature of 100°C was immersed
into a brass calorimeter of mass 128 g
containing 240 g of water at a temperature
of 8.4°C. Calculate the specific heat of the
unknown metal if water temperature
stabilizes at 21.5°C. (Specific heat of brass
is 394 | kg B

Options:

1 1
41652941198, 216 Jkg 'K

13 -1
4tesoadiieg, 8 Jkg K

41650941200, 094 JTkg TK !



232 1 1
416525941201, 1252Jkg™ K
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192 g F=99M &I TF 3F 91 = 100°C 9%
TH T 3 YA & U e 4, faee
FEHM 128 g € 791 $HE 240 g UM 8.4°C W
W ¥, IO & | AfS T 1 aeEE 21.5°C )
TR 21 W € A AT g i fafre e
B : (e i fafere w394 kg 1K1

)
Options:
11--—1
41652041198, 210 Jkg 'K
458 Jkg~1K-1

416525941199

41es0a41z00. 094 Tkg 'K

1232 J kg~ 1 K1

41652941201,
Zhermistry
Section Id : 416529170
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529179
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 41652910436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



What is the IUPAC name of the following
compound 7

CIIa CH,
5 :
A % oH

H X

/ SRy
CH,
Options:
3-Bromo-3-methyl-1,

s r o
41652041200 2 dimethylprop-1-ene

41652941203, 3-Bromo-1, 2-dimethylbut-1-ene

41652941204,  +Bromo-3-methylpent-2-ene

2-Bromo-3-methylpent-3-ene
4152941205, ’
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Freferfiga #ifites =1 ITUPAC =18 =1 & 7
CH; CH,

f
= H
'
H .-'f:r{\'\-B
¢ 1§
CH,
Options:

41652941202 > ATI3-HIUE1, 2-SIEHIARTITY-1-57

41652941203, o AL 2-TEHITA=E-1-59
41652041204 ATE-3-ATETE-2-8

o 5y : = =
41652941205 © 3-4fE }g:[
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What will be the major product in the
following mononitration reaction ?

- ;awﬁa S

| HNO,
H : = F
=~ Conc.| 12504
Options:
b
02 N i N | i
H i
41852941206,
= N~ T TR
mo |l
Rt
41652941207,
e
= o N T '\-u.:-_u_\._\:_‘
r |
I'\'DE
41652941208,
i ‘““w#’] S
R
41652941 20%9,
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freAfafiaa BHmEYE sAfafFn & 1 @ =

3Tq1E B 7
%
~" N7 TSy HNO,
e :

= Conc. H,50,

Options:



| 0
OQN N k“w =
H =
41652941206,
) ,|, )N .
B N_.-- o ""\-\..:_':_-\.
o |
s
41652941207,
(ﬁpﬁww 5
AR o~
H
T NO,
41552941208,
O
"‘E; e N*"'-J l ’ttg-_
no
=
41652941209,
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The major product of the following reaction
is :

0
CHyN< -~~~ NaBH,

—_——»
Options:
1 OH
CH,NI lf,,f,hv,h
41652941210, i
OH
CHyNs o~ o~ A
41652941211,
OH
CHLN s smng oo .

41852941212,



CHNH~ -~~~ A
41652941213,
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Freafafas sfufean =1 921 3= ©
O
CHyN< -~ _J_ NaBH,
Options:
(JDII
CH.NH. ¢ i :
41652841210,
OH
41652941211,
OH
("‘H3N o _F L\_‘_%
41652941212, » = : :
O
CH,NH~ _~ -~ i
41652941213, . i o - ~
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The major product obtained in the
following reaction is :

e e, AOGFE
¢ {% NaQFt/A
\D
Options:
/-"'---.-'"'##HHH '.':’('-}
\\‘-__--"";\L'--.H s CDQE‘]-
41652941214, .
/""---_ _hq“'“'« _-_-.'-O
'\wxfﬂaj,fT
CO,Ft

416852941215,



0O

<\—L CO,Et

416525841216,
CO,Et
41652941217,
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TeTEa AR § 9 2F e T 3R

T
S = N o o T
W 2
{ S NaOEt/A
. ____-b_\ —_—
2 i
Options:
/-""'--*’#ﬁh“‘ -.'.-’":“]
\;1 _-CO,Et
41852941214, -
/,.______ *H‘ _._-_-.D
.\\__---"H\‘__.......-T
CO,Et
41652941215, <
i s o)
C 1
g sa . _~CO,Et
41652941216, )
(/-'--______‘__,_.-"'"-r"-_-.,_____‘:_._.__._D
\\--"'---\:::%-'-'.T/
CO,Et
41652941217,
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The major product of the following reaction

15 .
g
1" OH
l» - |f (i) ag. NaOH
S (i) CH,]
Options:
ﬁj'a
,f“‘TfDH
41652941218,
CHE
A OH
CHy S
41652941219, -
CH3
#I,HKT;}H
41652941220, CH,
(",'H3
@’
41652941221
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=1 afufFn = SR 2

CH,
:
o (i) steflr NaOH

[h,ﬂ/ (ii) CH,l

Options:




41652941218,
CH:a
o2 OH
o |
CH; =
41652941219, :
CHS
=~ TO] |
41652941220 CH,
e OCH,
41652941221
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An aromatic compound ‘A’ having
molecular formula C-H, O, on treating with
aqueous ammonia and heating forms
compound ‘B’. The compound ‘B’ on
reaction with molecular bromine and
potassium hydroxide provides compound
‘C” having molecular formula C.H-N. The
structure of ‘A" is:

Options:
- /C] 10
a‘:‘_,; A OH

416525941223,



OHC .

41652941224,

L

~0~ CH=CH-CHO
41652941225,
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C,H,0, 8 Sl S & 914 T 3 W)
AT ‘B’ = €1 9 B SAvEE S
A1 IIf9W BESadEe & 91y i 3
i ‘C’ =W 2 fowe o g3 CHN
1A TEIE

Options:
= |,.-"{"ODH

41652941225 S

o AHO
416529412725, e OH

Q1 TCH. o
41652941224, X" OH
41652941225,
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Which is the most suitable reagent for the
following transformation ?
OH
|
CHH—CH = CH—CHZ—CH—CH:} —

CH,—CH=CH - CH,CO,H

Options:
4165054100 lollen’s reagent

41652941227 12/ NaOH

iTgsagugsyy Beans KMnQ,

CrO,Cl, /CS,
416852941229, i -
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Frefafas war & fog Feiius s9ge
Afshe® F & ?

C|)I—I
CH;—CH=CH-CH,—-CH-CH; —
CH,—CH=CH-CH,CO,H

Options:

41652941226, 2T ATHFH

41650041207, 12/NaOH

HEE KMnO,
416525941228,

CrO.CL,/CS,
41652941229, 252/
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The major product of the following reaction

15 :
o H/O T 3() dil. HCl/ A
A o O = ¥
Cl I3D’? =" “0H (ii) (CODH}E / |
Polymerisation
Options:
O
%mef_{:fra,.a@_l L“‘\ ’,}
) | I dn
- o)
ST TOCDEH;
41652941230 .
=
‘PD b #D - -\-H-{J
J < Odn
L R
N A
41652941231 OCH,
O
IS !
| n/ n
ot ) i O
i OH
41652941232,
*PD 0~ lL }
3 i 1l
I\\
41652941233 OH
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Options:



ki
O-_ H’HFD o } §
% T | T In

A O
=" “0OCOCl 1y

41652941220,
.}
D r #D EH
' by
N/
41552941221, 0CH3
B
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41652941232,
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Which of the following tests cannot be used
for identifying amino acids ?
Options:

41652941234 ~anthoproteic test

41652941235, Darfoed test

41652941236, biuret test

41652041237, Ninhydrin test
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Options:
41652941034, SIS Faro

HATRIE T

4168529412355,

AL TG
416529412386, :

41652841237,
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The correct match between item ‘I’ and
item ‘11" is :

Item ‘I’ Item ‘11"
(compound) (reagent)
(A) Lysine (P)  I-naphthol
(B) Furfural (Q) mninhydrin
(C) Benzylalcohol (R) KMnOj,
(D) Styrene (5) Ceric
ammonium
nitrate
Options:

41652941238, (A)>(Q); (B) »(P); (C)»(R); (D) »(S)
41652941239 (A) > (R); (B) »(P); (C) »(Q); (D) »(5)
41652941240, (&) (Q) (B)>(P); (C) > (S); (D) >(R)

(A)>(Q); (B) >(R); (C)>(S): (D) »(P)

41652941241,
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& 1 T4 % AT T gHA ©

Ha T’ He ‘11

( TR ) ey
(A) EEMA P) 1Tt
(B) RIFIA Q) TreEie
(C) fafsauedRE (R) KMnO,
(D) w=TEHA (5) Wit STHIEH

MEeE



Options:

41650941238, (A)(Q); (B) > (P); (C)>(R); (D) »(S)
41652941239, (A)—=>(R); (B) »(P); (C)>(@Q); (D) »(5)
41650941240 ) 2>(Q); (B)>(P); (C)»(5); (D) >(R)

(A)->(Q); (B) >R); (C) »>(S): (D) »(P)

41652541241,
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The 715t electron of an element X with an
atomic number of 71 enters into the
orbital :

Options:

41652941242, 05

41652041243 H

416525941244, 5d

41652941245, P
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TS T X, et e w@em 71 %S9
7141 Teia2 o e H TSy S 2, 98 E
Options:

41652841242, O5

416525941243, Af

41852941244, 5d

41652941245, OP

Question Number : 42 Question Id : 41652910447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The electrolytes usually used in the
electroplating of gold and silver,
respectively, are :

Options:

41652041246, 1AUCN),] ™ and [Ag(CN),)

Alesn0d1nqr. AUNH3)] " and [Ag(CN),]

41650041245, AUEN),l ™ and [Ag CL]
[Au(OH)4]~ and [Ag(OH),]

41652941249,

Question Number : 42 Question Id : 41652910447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT 71 ATt % S o9 H S9EE 2 9
A AT A F

Options:

41652941246, [Au(CN),] = T3 [Ag(CN),]

b
41652941247, [Au(NH,),] " T [Ag(CN),]

41650941245 LOWEN),] T [Ag CL]

[Au(OH),|~ a4 [Ag(OH),]
41652541249

Question Number : 43 Question Id : 41652910448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Among the following reactions of
hydrogen with halogens, the one that
requires a catalystis :

Options:

41652941250, HatFa > 2HF
41652041251, HatClh > 2HC
41652941252, ot Bry > 2 HBr

H,+1, » 2 HI
416525941253, R



Question Number : 43 Question Id : 41652910448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TS & WY BSS IS & fA=faiad
HAfferan i § 1 T U 30 =l Aol
FA T ARE
Options:

41652941250, HatFa »2HF

41652941251, HatCly > 2HC

41652941252, ot Bry > 2 HBr

H,+1, » 2 HI
4168529412535, EE R

Question Number : 44 Question Id : 41652910449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Sodium metal on dissolution in liquid
ammonia gives a deep blue solution due to
the formation of :

Options:

41652941254 Sodamide

sodium-ammonia complex
4152941255,

41652041256, sodium ion-ammonia complex

ammoniated electrons
4152941257,

Question Number : 44 Question Id : 41652910449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A A § Aifegw 91g & faetad #1 ©
T e el T fAerTT S €, THE R
7

Options:

41652941254, e &S 1 T

41652941255, e S

41652941256, P - ke



41652941257, A Sersil 1 =

Question Number : 45 Question Id : 41652910450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The pair that contains two P~ H bonds in
each of the oxoacids is:

Options:

41650941055 TaP Oz and HyPO,

41652941259 Hal20s5 and H;PO;

41650941260, T3t P2 and H,P,0;

H.P.0O. and H,P,O
41652941281, T 2 ° g

Question Number : 45 Question Id : 41652910450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Foreferfia T & o e ST
HYP-H =T E T2 T

Options:

H,PO, @l H,PO,
41652941258, ‘ ' ' =

4165259412549, H 0, T8 H PO,

41652941260, Hal Op T8 HPy05

H,P.O. 991 H,P,O,
41652a41261. 4 275 4" 26

Question Number : 46 Question Id : 41652910451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The number of 2-centre-2-electron and
3-centre-2-electron bonds in E’HH{,-]r
respectively, are :

Options:

41652841262, 2and2

41652841263, +and2

41652041264, 2and4



41652941265, 2and1

Question Number : 46 Question Id : 41652910451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
B,H, ¥ 2-%2-2-5c192[ a1 3-h2-2-5eiag
AT T TS F: T

Options:

41652941262, 2 G412

418529412635, 4 q41 2

) ]
41652941264, & wH 4

416852941265, 29411

Question Number : 47 Question Id : 41652910452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In the reaction of oxalate with
permanganate in acidic medium, the
number of electrons involved in producing
one molecule of CO, is:

Options:
41652941266, O

41652941267, 1

I~

416525941268,

41652941269, 10

Question Number : 47 Question Id : 41652910452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A g H Aol S WS & q1Y
AfafeFa 3, CO, F TF A =1 =1 H ffed
Sl & HE T

Options:

41652941266, 0

41652941267, 1



41652941268, 2

41652941269, 10

Question Number : 48 Question Id : 41652910453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The difference in the number of unpaired
electrons of a metal ion in its high-spin and
low-spin octahedral complexes is two. The
metal ion is :

Options:

-7 4
41652941270, NI

o 24
41652041271, Mn

2+
41652941272, CO

Fe2*
41652941273,

Question Number : 48 Question Id : 41652910453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T Hiq AT & IH-FEET a1 FHE-T=Em
e ST=FASE Hholl o A el i
Hesti | 31 F AR &1 g A ©

Options:

« 7 o
41852941270, NI

I 24
41652941271, Mn

2+
41652841272 CO

Fe?*
41652941273.

Question Number : 49 Question Id : 41652910454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A reaction of cobalt(Ill) chloride and
ethylenediamine in a 1 : 2 mole ratio
generates two isomeric products A (violet
coloured) and B (green coloured). A can
show optical activity, but, B is optically
inactive. What type of isomers does
A and B represent 7

Options:

41650041774 Coordination isomers

41652941275, Geomelrical isomers

41652941276, lonisation isomers

41650041077 LCinkage isomers

Question Number : 49 Question Id : 41652910454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FEeE () FEANGES 991 UAEAA2SuHE =i
1:2 A &9 | st 9 2 gueEmt
IAE A (T T F) 99 IS B (B A
F1) STA ST &1 A YA VT TS F
%, W B ¥AU YU TEl ¥ fF9 gER
THEEE A 791 B Fretud e 82

Options:

41652941274, ©raeuAr] HHIEA

A J9EgTd
41652941275,

415523941276, 13 !

416525841277, ert

Question Number : 50 Question Id : 41652910455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The reaction that is NOT involved in the
ozone layer depletion mechanism in the
stratosphere is :

Options:



Ihi-‘

HOCl(g) » OH(g) + Cl(g)

41852941278, .

4165004107¢, S1OB) +0(g) - Clg) + Os(g)

CH,+20, »3CH,=0+3H,0
416525941280. ’ &

CECly(g) —™— Cl(g) + CECl(g)
416529412581,

Question Number : 50 Question Id : 41652910455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HAAEA | ASE WAl F F9hd ° Sl
Afufsran & |fmfed 2 €, 98 #
Options:

Ihi-‘

HOCl(g) » OH(g) + Cl(g)

41852941278, .

4165004107s, S1OEB) +0O(g) - Clg) + Oz(g)

CH,+20, »3CH,=0+3H,0
416525941280, ’ N

CECly(g) —™— Cl(g) + CECl(g)
416529412581,

Question Number : 51 Question Id : 41652910456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The amount of sugar (C,H,,0,,) required
to prepare 2L of its 0.1 M aqueous solution
15 :
Options:
41650941282, 428

41650941283 00-4 8

41652941284, 1718

1368 g
41652941255,



Question Number : 51 Question Id : 41652910456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
R F 2 e 0.1 M S faesd 5 T
% fero = (C,H,,0,,) Fi AE9TH 76

2
Options:

A ¥
41652041282 428
41650941283, 00-4 8

41652041284, 1718

1368 g
41652941285,

Question Number : 52 Question Id : 41652910457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A compound of formula A,B, has the hep
lattice. Which atom forms the hcp lattice
and what fraction of tetrahedral voids is
occupied by the other atoms :

Options:
3
hep lattice - A, E Tetrahedral
41652941286, Yol 58
2
hcp lattice - B, ; Tetrahedral
41652041287, volds-A
; 1
hcp lattice - A, 3 Tetrahedral
voids - B
41eE2941 288,
) 1
hcp lattice - B, 2 Tetrahedral
voids - A
41552941289,

Question Number : 52 Question Id : 41652910457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A,B,, T3 9161 T AT H hep Wl 21 HH

1 YTHY] hep SIET® 9A1G1 & A9 IR
Taferal =1 1 T 91 SEL TCHI GRT AATE

B e ?
Options:
2 nl
hcp STEE - A, 3 ELL e
fifa= - B
41652941286,
2
hep 9T@%F - B, 7 FATHARH
fafamemar - A
41652941287,
1 .
hep WTE® - A, - F(SRARM
41652941288 R - B
1 "
hcp 9T+ - B, 3 HAATFEAHRTH
41652941289, R - A

Question Number : 53 Question Id : 41652910458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The ground state energy of hydrogen atom
is —13.6 eV. The energy of second excited
state of He* ionineV is:

Options:

41652941290, — o4

41652041291, — 2/-2

41652941292, — o4

4185294123935, 6.04

Question Number : 53 Question Id : 41652910458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TISEISH TTHY] Tl §el 3198 el —13.6 eV
1 He* A=A =i fgdrg Iufem s1=reen #i
Eai, eVﬁ,%:



Options:

41652941290, — o4
41652041291, — 2/-2

41652941292, — o4

416525941293, 6.04

Question Number : 54 Question Id : 41652910459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

An ideal gas undergoes isothermal
compression from 5 m> to 1 m? against a
constant external pressure of 4 Nm 2. Heat
released in this process is used to increase
the temperature of 1 mole of Al. If molar
heat capacity of Al is 24 ] mol 'K~ 1, the
temperature of Al increases by :

Options:

1K
41852941294,

2

— K
41652041295, -
41652941296

3

K
41852041297, 2

Question Number : 54 Question Id : 41652910459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4 Nm 2 % TR 9@ 2@ = fa%s, & e
T =1 g9 H924 5 m® ¥ 1 m? 7%
W ¥ TH WEH H Schfed S S WA
1 |icl Al % 119 %1 =2M & Tau fem s 2
Afg Al HIeR 01 9111 24 Jmol ~ 1K 1 &
WAl F1 a9 fa T Fgm &, 98 T :

Options:

1K
4165259412594,



W | 2
-

4165259412395,

41652941296,
=K
41852941297, <
Question Number : 55 Question Id : 41652910460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
The process with negative entropy change

15 :
Options:

41650941295, Sublimation of dry ice
Dissolution of iodine in water

416525941295,
Dissociation of Ca50,(s) to CaO(s)

and SO,(g)

from

ammonia

41552941 200,
of

Synthesis
N, and H,

41652941201,
Question Number : 55 Question Id : 41652910460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Options:
41652941298, ?ﬁﬁlﬁfiﬁlﬁﬁmﬂ:{

HAAER F1 9 H faeaq

41652941299
CaSO,(s) F1 CaO(s) T SO4(g) H

41652941300, TEETSH
N, 1 H, ¥ 911 =1 Hyeruoy

41852941301,
Question Number : 56 Question Id : 41652910461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Elevation in the boiling point for 1 molal
solution of glucose is 2 K. The depression
in the freezing point for 2 molal solution of
glucose in the same solvent is 2 K. The
relation between Kh and Kf is :

Options:
41652941302, Fo= 19K
41652041303, Fp= 09K

41652941304, Fp= K¢

41652941305,

Question Number : 56 Question Id : 41652910461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TEHE o 1 HIAd f9eEH & AT J A
2K ¥ oM™ F I faems | 2 Hew
faerm ¥ fedis # s 2 K 81 K, a0 K,

Options:

41652941302, Fo= 19K
41652041303, Fp= 09K
41652941304, Fp= K¢

41652941305,

Question Number : 57 Question Id : 41652910462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

5.1 g NH,SH is introduced in 3.0 L
evacuated flask at 327°C. 30% of the solid
NH,SH decomposed to NH; and H,S as
gases. The KP of the reaction at 327°C
is (R=0.082 L atm mol ~ 'K~ !, Molar mass
of 5=32 g mol I, molar mass of
N=14gmol 1)
Options:

2

- 4
41652941206, 1% 107" atm



3 2
41652941307, +9 %107 “atm

A . 2
41652941305, 0242 atm

4 3

Question Number : 57 Question Id : 41652910462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
5.1 g NH,SH &I 327°C W 3.0 L & T% Rad
9 & v § =en 9 g 30% o
NH,SH, NH, 721 H,S i & s77afed 21 s
#1 327°C W TW SAfAEA HK, ¥
(R=0.082 L atm mol ~ 1K 1, HeR Z=99MH
S=32gmol !, HITR Z=9 AN =14 gmol ')

Options:

41652941306, 1210 *atm?

3 2
41652941307, +9x107"atm

247 . 2
41652941308, O-242atm

4 .

Question Number : 58 Question Id : 41652910463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In the cell

Pt(s)|Ha(g, 1bar)HCl(aq)| AgCl(s)|Ag(s)| Pts)
the cell potential is 0.92 V when a 10 6
molal HCl solution is used. The standard

electrode potential of (AgCl/Ag,Cl™)
electrode is:

—0.06 V at 298K |

A

¥ 2 303RT
ihiven, e

Options:
41652041310, 040V
41652041311, 076V

416525941212, 0.20V



094V
416525841213,

Question Number : 58 Question Id : 41652910463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Frefafas Ta o
Pt(s) H,(g, 1bar)[HCl{aq)| AgCl(s)/Ag(s) Pt(s)
7 10~ © molal HC1 faer= =1 39401 a1 &
@ T A 092 V 71 (AgCl/Ag, 1)
THFRIE T HAF TR favg ¥ ;. fa@ T
g,

i 2303RT ‘
{ e = %[[—H =0.06V, 298 K T}

Options:

41652941310, 040V

41652041311, 076V

MWV
416525941212, 0.20)

094V
416525841213,

Question Number : 59 Question Id : 41652910464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For an elementary chemical reaction,

- d[A]
A . sl TSN 2"1 ;
2%, , the expression for 3
15 :
Options:
2
41650941314 Kalfal —Koq [A]
ok 5 2
41650941315, 2Xilfal =2k [A]
2
41650941316 KilAal ko [A]
k. [A.]+k AR
41652941317, 1142 1 [A]

Question Number : 59 Question Id : 41652910464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



uF  gnRfrys ImEfas a@fafwEa

k s
Ap === 2A ¥ fou =i a4l s
-1 dt

Options:

2
41652941314, K112l ~ K1 [A]

2 5 2
41650941315, 2Xlfal =2k 4 [A]

2
41652941316, Zq[Ar]—k_q [A]

k.[IA,]+k AR
41652941317, 114 1 [A]

Question Number : 60 Question Id : 41652910465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Haemoglobin and gold sol are examples
of -

Options:

41652641313 positively charged sols

41652941319 negatively charged sols

positively and negatively charged

41652941320, sols, respectively

negatively and positively charged

sols, respectively
41552941221, d

Question Number : 60 Question Id : 41652910465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TR a9 Mo Hid 32 §

Options:
YAHS A9 Hiell &
4152941215,

41650541310 ANCHH HATETIE 9l &

YT TS a9 B ST Hie
41652941320,



41652941221,
Mathematics
Section Id : 416529171
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 416529180
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 41652910466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let N be the set of natural numbers and two
functions f and g be defined as
f, 8 : N->N such that

,11; : if n is odd
fy=1 2
2 if n is even
| 2
and g(n)=n—(—1)". Then fog is :
Options:
41652941322 both one-one and onto.

41652941323, one-one but not onto.

41650941304 ONO but not one-one.

neither one-one nor onto.
41652941325,

Question Number : 61 Question Id : 41652910466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



T T9=11 N 9i5hd G&eti =1 <91iar & q41 21
e f 3R ¢ T wlE F afrafa ©
frg: NN

} n- ﬁﬁnfﬂﬁq%
! Eﬁn“ﬂ'q%

m|...m

a4l g(n)=n—(—-1)"; al e fog

Options:
41652041322, el AT ST S § |
alg5oo41303 O i & T SAT=STEl e ¢ |

41652941324, w0l € W UHET T 2

A A=SET & A T 3 UHF B

416525941325,

Question Number : 62 Question Id : 41652910467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The value of A such that sum of the squares
of the roots of the quadratic equation,
x2+(3—A)x+2=A has the least value is :

Options:

4
416525941326, 9
2
41652841327, <
416525941228, 1
15
8
415523941329,

Question Number : 62 Question Id : 41652910467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A 1 98 91 foags foau feema s
224+ (3=Nx+2=\ % Hai & I & AFT F
A AT, © :

Options:



WO | e

415523941326,
2
4165258412327, <
415523941328, 1
15
3
4165259412329,

Question Number : 63 Question Id : 41652910468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

; 5
fvﬁ}iw l(ﬁ i |

Letz=[

= 2

and I(z) respectively denote the real and
imaginary parts of z, then :

Options:
41652041330, R(z)>0and I(z) >0

41652941331, R(2) <0and I(z)>0

41652841332, ™M2)=—3

I(2)=0
4155294132325,

Question Number : 63 Question Id : 41652910468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

+ 5 5
3 i) 3
T z=(%‘|§‘ }["f' i} 21
N i '-.2 2)
Al R(z) 41 I(z) FHI: 2z & Fidiasd a0

Options:
41652041330, M2 > 0T I(z) >0

R(z) <09 1(z) >0
41652941321,

41650941332 M@ =-3



416525941233,

Question Number : 64 Question Id : 41652910469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
3 b 4

Let A=|b b2 +1 b|whereb>0. Then

1 b 2

det (A)
— 18

3

the minimum value of
Options:

41652041334, — 2V3

s
416852941355, V3

418529413536, Y 3

416525941237, ‘"ﬁ

Question Number : 64 Question Id : 41652910469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
b 1

l:| Bl

AT A=|b b2+1 b| S@b>07Id

1 b 2

I

‘det (A)

: 1 ATH 91 ©
:

Options:

41652041334, — 2V3

41652941335, V¥

416528941236, ™ 3

41552341337, ““'IE

Question Number : 65 Question Id : 41652910470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

The number of values of 8e(0, ) for which
the system of linear equations

x+3y+7z=0

—x+4y+7z=0

(sin30)x + (cos2B)y+2z=0

has a non-trivial solution, is :
Options:

41652941335, lour

41652941339, hree

41652941340, WO

41652941241, 1€

Question Number : 65 Question Id : 41652910470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Be(0, ) o TH THE1 T HE, foE foe 7
g T e
x+3y+7z=0
—x+4y+7z=0
(sin30)x + (cos2B)y + 2z=0
FIUF ATB AT, 8 :

Options:

41652041338, %

416525941229,

A

416525941240,

41652941341, o®

Question Number : 66 Question Id : 41652910471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

25
[ 50—~ B — r -~ Py s | WP
If ZE G TLEE—I} Zk( Lzﬁ_)r
r={)
then K is equal to :

Options:



=7
41652941342, (25)°
41652941343, <
41652941344, <

41652541245,

Question Number : 66 Question Id : 41652910471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

25
?Iﬁ Z{S{]{_-T_S{} T{—-ZS T}=H(3]£25}
r={}

T AK AT
Options:
41652941342, (25)°

416525841243, <
416525941244,

416525941245,

Question Number : 67 Question Id : 41652910472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The positive value of A for which the
co-efficient of x2 in the expression

lef\,ff |

10

A X !
— is 720, is :
x>

Options:

416525941246, \,@

-
416525941247, 2\.|'{:
416525941248,

41852941249,

Question Number : 67 Question Id : 41652910472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A T 9 ¥ATHF "H f9aE fou =9

; 10
o =y A1 : .
2 [‘.ﬂu ) e mmE0E E

Options:

415525941246, "Ig

41652541247, E‘E
416525941248,

416525941249,

Question Number : 68 Question Id : 41652910473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let ay, 8, 8y, - , 8y be in G.P. with a, > 0
for i=1, 2, ...., 10 and 5 be the set of pairs
(r, k), r, keN (the set of natural numbers)
for which

log, a;" a;~ log, a;f az* log, a;® a "

¥ log, ag" a7 | =0

log, a," aik log, as" ag
T k T k T k
log, a; ag~ log, ag ag log, ag ay

Then the number of elements in 5, is :

Options:
2
416529412350,
4
41652941351,

41652941352, 10

AlssaEalssy ity many

Question Number : 68 Question Id : 41652910473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



HHT ay, ay, @y, ... , agp IR 9t H T
i=1,2,...,10 % faua, >0 & iR s, T 7w
(r, k), r, keN (HTEHd S 6 99=4) F

log, a;" ali“ log, a;" a_;k log, a;' af‘

k

r Fo... K r k| _
log, ay a5~ log, a5 a;" log, a5 a7 (=0

log, a;" ag* log, ag" ag" log, ag" aj"
1S F Al F HE
Options:

(=]

416525941250,
416525941351, 4

41652941352, 10

416525941353, I

Question Number : 69 Question Id : 41652910474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

19 ( n )
The value of cot ZCO’E_I 1+ Zzp
Mrl=1 X p=1 Fo
is :
Options:
22
23
41E52941254,
23
29
41652941255 &7
21

41652941356, 19

41652941357, 21

Question Number : 69 Question Id : 41652910474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



(19 [ n )
cot cht_l 1+ > 2p HHAMA T :
| n=1 p=1 iy
Options:
22
23
41652941354,
23
22
416552941355 ©7
21

41652941356, 19

41652941357, 21

Question Number : 70 Question Id : 41652910475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let f be a differentiable function such that

=7~ 3218

Ax=0) and

. ' . 1)
1) = 4. Th lim x f [— :
ﬂ } = 07" WX J|
Options:

41650941355 90es not exist.

exists and equals 4.
41552941259,

exists and equals —.
416523941360. 4

exists and equals 0.
41552941361,

Question Number : 70 Question Id : 41652910475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A f TF BH AIFAAT FAd ¢ 6

fa=7-2 L x>0 e

. ' 1
1 4 Bl o lim x {—
fO) =4 @1 @ lim xf |2

Options:

41652041355, 1 AREIE TE € |

416525941359, b %ﬂ@.ﬂ'4$ gl

4 .
1 Al ¢ 991 — % T9H 2
41652941200, ri

41652941361, T ¢ © TU1 0 % TAE €

Question Number : 71 Question Id : 41652910476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Letf:(—1, 1)»R be a function defined by

f(x) = max { x| , 1 1’2}, If K be

the set of all points at which f is not
differentiable, then K has exactly :

Options:

41652941362 One element

41652941363, WO elements

416579413264 hree elements

41657941365, five elements

Question Number : 71 Question Id : 41652910476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

AME f: (-1, 1) >R TH F@d &

f{x‘l=max{ |.1| 1 xz} BT
afrifea 21 9f K 373 o fegsfi mog=m ®
59 W [ sEFeAE T8 8, @ K § A
(exactly) :

Options:



41650041360 O HIHA I
41650941363, O FEE T

416525941364, qar A €l

416525941265, ol %l

Question Number : 72 Question Id : 41652910477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-

The tangent to the curve, y=xe' passing

through the point (1, e) also passes through
the point :

Options:

)
41652941366, 2 3¢)

41650941367, O 0€)

4155239413658,

41852941369,

Question Number : 72 Question Id : 41652910477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correc_:t Marks: 4 Wrong Marks: 1

a® y=xe* i 9 Y wE W &g (L e) A A
F I 7, T | T fog | off S o
g2

Options:

)
41652941366, 2 3€)

(3, 6e)

%,2{:}
3

s

416525941367,

416525941268,



w3 | L

" EL"W

416525941269, [ 4

Question Number : 73 Question Id : 41652910478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A helicopteris flying along the curve given

-

3/
by y-x2=7, (x =2 0)- A soldier

1

L)
5 wants o

£

shoot down the helicopter whenitis nearest
to him. Then this nearest distance is:

positioned at the pcrint[

Options:
x-"g
41652941370, ©

k3| =

416525941271,

1\/5T
41652941372, 3V3

I\F
4152941273 63

Question Number : 73 Question Id : 41652910478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

& T 3/ g
TF Sefldhiel 9% y-x2=7,(x20) %

e 4
e IT W@ ﬁﬁﬁ?ﬁﬁg[grﬂ wE

4T Eeflshi=? =1 39 97 et 98+ R
el & W9 98 39 (heaq 21 6 98 fwean
e
Options:

5

41652941370, ©



1
41652941371, 2

17
4152941272, 3\4' 3

I\F
4152941272, 6\3

Question Number : 74 Question Id : 41652910479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
e alk ; .
If J‘IIJD A= ™ f)+C,
48 :

where C is a constant of integration, then

flx) is equal to :
Options:

N T

41652941374 — =% 1

— A4y —
41552341375, =1

A3,
41652941376, 7 +1

-":}-3
41652041377, % t1

Question Number : 74 Question Id : 41652910479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1

- a3 a3
afg | e dx=—e ™ fx)+C %,
48
el C UF HHEed dAR T, al f(x) TR
2
Options:
b
41652841374, — =¥ —1
41652941375, X —1
£i3
41652941376, 407 +1
- 23 +1

41552341377,



Question Number : 75 Question Id : 41652910480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

"

il

dx

The value of - , where
[x] + [sinx] + 4

—"T
F2

[t] denotes the greatest integer less than or

equalto t, is :

Options:
'J"
— (4w - 3)
20
41652941378,
".'ql
— (4w — 3)
41652941379, 10
1
41652041380, 12
1
et [?Tr 5)
41652041381, 12

Question Number : 75 Question Id : 41652910480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

o

j dx w1 9F, W@ [f] 98
[x] + [s

i_nx] -4

TS
p)
—_

HETH YU € 9 t T H 97 S5F TR E, ¢

Options:
'.}r
— (4w —3
el )
41652941378,
3
— (4w - 3)
416529413749, 10
1 s
E (.""-l } 5)

416525941280,



41652941381, 12

Question Number : 76 Question Id : 41652910481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1
| Jtijt]dtr I

X

2

9 j_rm dt =x
0

f(l,rz} 18

Options:
18

41652941382, 25

4
41652941383, O
24
41652941384, 22
6
25
41652941385,

Question Number : 76 Question Id : 41652910481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

x 1

ate Jf{t]dtzxz | jtz_f{t]dt ¥ 4

0 x

41652941382, 25

415523941383,

41552341354, 25



6
25
416525941285,

Question Number : 77 Question Id : 41652910482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The curve amongst the family of curves
represented by the differential equation,
(x2—y?)dx +2xy dy=0 which passes
through (1, 1), is:

Options:

41652541386, a circle with centre on the x-axis.

41659941357 @ circle with centre on the y-axis.

an ellipse with major axis along

41652041385, e y-axis.

a hyperbola with transverse axis

41652941359, along the x-axis.

Question Number : 77 Question Id : 41652910482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
FaFHA FHF (x2—y)dx + 2xy dy =0 §FI
frefud 9kl % Fa (family) +1 92 o6 S
(1,1) HEFAME, & :

Options:

o ToTeen % x-318 W E |
41652041386, 10 e ¢
41650041387, P TV (oI R - R T

UF S e 2 314 y- 3141 i famm

41652941388, A ©|

TF Afquaad fSua1 Fqueg-a4
41652941389 X-TH I @ H 2

Question Number : 78 Question Id : 41652910483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Two vertices of a triangle are (0, 2) and
(4,3). If its orthocentre is at the origin, then
its third vertex lies in which quadrant ?

Options:

41650941390, st

41652941391, second

41652941392 third

41650941393, Lourth

Question Number : 78 Question Id : 41652910483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e fos F 91 9 (0, 2) A9 (4, 3) &1 AR
SOHI s Jaltag W ¢, ol SHE drE v
g wqata § 272

Options:

41652941390, 494
41652941291, 204

416528413592, e

e

4165259412593,

Question Number : 79 Question Id : 41652910484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two sides of a parallelogram are along the
lines, x+y=3 and x—y+3=0. If its
diagonals intersect at (2, 4), then one of its
vertex 1s :

Options:
41652941394, (2.6)

416520941395, (1)

4165259412396

4165258412597,



Question Number : 79 Question Id : 41652910484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T AR TGS FI G S, T o+ y=3
me—y-+3=ﬂ€r'7-37|§ﬁ_51%l afs 59 faskol
(2, 4) R wf=s FTd ¥, T 5HH U 9 7
Options:

41652941394, (2, 6)

41652941395, (2 1)

4155239413396

41852941397,

Question Number : 80 Question Id : 41652910485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[f the area of an equilateral triangle
inscribed in the circle,

2 +y2+10x +12y +c=01is 27./3 sq. units
then c is equal to :

Options:

416520413908, 13

41652941299, 2U

416525841400,

41652941401, -25

Question Number : 80 Question Id : 41652910485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T F9 22 + 17+ 10x + 12y + ¢ =0 F HTId Th
U E AR G!Eﬁ&—ﬁﬂ%%i.g?\ﬁ T TFE E, e

TR T :
Options:

41652941398, 19

41652941299, 2U



2
41652341400, 2
— 2
41652341401, 25
Question Number : 81 Question Id : 41652910486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let

[ . 2 2
S=1{(x.,y) eR": Y 2 1Ir
[ 14r 1-r1 j ’

where r # + 1. Then 5 represents :
Options:

an ellipse whose eccentricity is

|| 2
—— ,whenr > 1.

41650941400 VT H1

an ellipse whose eccentricity is
1
41652041403, VI t1

,whenr>1.

a hyperbola whose eccentricity is

ﬁrmfhenﬂ{ r<l.
41652941404, VT

a hyperbola whose eccentricity is
.

?,whenﬂﬂ r<i.
41652941405, ;

Question Number : 81 Question Id : 41652910486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

HH

{ 3

2
S={(x,y) eR?: Y 2 |
{(1 y) ¢ 1+r 1-r1 ]I ,

W r# + 1% A1S fod fefia w2, 92
2

Options:



3

Wﬁﬁﬁ_ﬂmﬁmﬁl ..Jm %J
EE r>1 ¥
41652941402.
o - = i 1
wF dge o SehEm T %

41852041403, TAEHr>1%|

S_— s 2

r+1
T EEmH 0<r<1 Tl
41652941404,
2 2
T aEO<r<1®
41652941405,

Question Number : 82 Question Id : 41652910487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The length of the chord of the parabola

xi= 4y hav ing r:rquation
X — \I'{E_\l,r 442 =0 is:
Options:
. 2
4152941408, 3\"":

41652041407, 2v11

41652341408,

842

41552341409,

Question Number : 82 Question Id : 41652910487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
TEAd x2=4y Hi 39 e, FFHH FHwm
-2y +4J2 =0 B W AER
Options:

342

4165259414086,



41652041407, 2v11

63

41552341408,

842

41552341409,

Question Number : 83 Question Id : 41652910488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The plane which bisects the line segment
joining the points (-3, —3, 4) and (3, 7, 6)
at right angles, passes through which one
of the following points ?

Options:
41652941410, 4 -17)

£ — 7
416525941411, ¢1.-2

416525941412, (2.1.3)

-2
415525341413, (=2:39)

Question Number : 83 Question Id : 41652910488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9% THae o =953 (-3, —3,4) 990 (3, 7, 6)
i afFa s fAg @ w o 272
Options:

41652941410, & —L7)

£ S |
41652841411, &1L~ 2)

4165254141%. (2.1.3)

-2
416525841413, =2:3:)

Question Number : 84 Question Id : 41652910489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



On which of the following lines lies the
point of intersection of the Iline,

x—-4 y—-5_ z-3

and the plane,

2 2

x+y+z=27

Options:
x=1 y—3 =z+4

41652041414, 1 2 5
x 4_5«' 5_25

41652941415, 1 1 1
X ?._y 'ﬁ_zlfﬁ
= - »

41652941416, < - 3
'x|3_4y_zll
3 3 2

41652941417,

Question Number : 84 Question Id : 41652910489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

x 4 ¥—b z—3

I a9 HHAA
2 2 1
x+y+z=2 ® Yfd=seq fag f=1 # 4 fFm
T g g2
Options:
x—1 y—=3 z+4
41652041414 1 2 5
- ¥—3 _ZT—9
41652941415 1 ! :
r—2 y—3 =243
)
41652941416, < - 3
'x|3_4y_zll
3 3 i
41652941417,

Question Number : 85 Question Id : 41652910490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Let : = (A —2) ; | {,’ and

5 —» — :

B = [44" 2) a +3b be two given
» .—'5

vectors where vectors a and b are

non-collinear. The wvalue of A for which

3 —*
vectors a« and P are collinear, is :

Options:
41652941418, -3
41652941419, O
41652041420, 4
—4

416525941421,

Question Number : 85 Question Id : 41652910490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

afg a=(-2)a+h Gl

.--} e —r -

B=(4rA-2)a +3b o <Y T Hicw
'™ ."' ._} ., -

T el Eey a A b H@ETE ) A FaE

A s o o a p W E

Options:
41652941418, =
41652941419, 3
41652941420, 4
—4

41652541421,

Question Number : 86 Question Id : 41652910491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



[f mean and standard deviation of 5
observations xq, X,, X3, X4, X5 are 10 and 3,
respectively, then the variance of 6
observations Xy Xy ven s X and — 50 is equal
to:

Options:
41652941422, 075

41652941425, 5825

41652041424, 095

586.5
416525941425,

Question Number : 86 Question Id : 41652910491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ife ara J4i x,, x,, x5, x,, X, F A Tl
O oo Faw: 10 991 3 2, 1 6 Jemi
Xy Xoy wee p X AT — 50 T TE ¥ ;

Options:

41652841422 2075

41652541423, 5825

41652041424, 2095

586.5
415523941425,

Question Number : 87 Question Id : 41652910492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the probability of hitting a target by a
_ , A
shooter, in any shot, is ar then the
minimum number of independent shots at
the target required by him so that the
probability of hitting the target at least once

5
is greater than g, is :

Options:

41652941426,



41652941427, 4
41652041428, 2

41652941429, O

Question Number : 87 Question Id : 41652910492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

TS el I 9T 71 U o &1 fhd 33
ol 4] 1 = = b
qqa‘:tﬁﬂ‘iTﬁﬁﬁT€ 2, o o ] FH Y
o [a) 5 = e m
Eﬂ?ﬂﬁﬁraﬂ'gﬁﬁaﬁﬂ-g o HAfysw 81 & fou
IH T e F FH 4 FH fea =as varE=i
I AFIIFA 2 ?
Options:
41652941426,

41652941427, 4
41652041428, 2

41652041429, O

Question Number : 88 Question Id : 41652910493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The value of

SR O e O e B
" i 510 T 510
15 :
Options:
1
1024
41552941430,
1
41520941421,
1
512

416525941432,



1

41652941433, 296

Question Number : 88 Question Id : 41652910493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

"0S = cos = Cos = sin il
cos — ¢ o o e L
2 23 510 510
FHAT
Options:
1
1024
41552941430,
1
2
41652941431
1
41652041432, D12

1
41652941433, 296

Question Number : 89 Question Id : 41652910494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
With the usual notation, in AABC, if
/A+/B=120°, a=-B3+1 and
o \J3 — 1, then the ratio A : /B, is:

Options:

41652941434, 213

416525941435,

41652941436, ¢ 7

e |
—

416525941437,

Question Number : 89 Question Id : 41652910494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



| Hehdl H AABC HAfg /A + /B =120°,
a=\3+1 T p=3-1 & @ 17w
/A /B TERE

Options:

41652941434, °°3

416525941435,

41652941436, ¢ 7

e |
fa

416525941437,

Question Number : 90 Question Id : 41652910495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Consider the following three statements :

P : 5 is a prime number.
Q > 7 is a factor of 192.
R : LC.M. of 5 and 7 is 35.

Then the truth value of which one of the
following statements is true ?

Options:

41652941438, (P71 Q) v (~R)
41652941439, (P A (~QAR)
41652941440, TV (7 QAR)

41652941441, ("P)v(QAR)

Question Number : 90 Question Id : 41652910495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

4 1 %o W f9=r Fifa

P : 5UF 9T B

Q : 192 F UF TUHEUE ¥ |
R : 57917 & L.CM. 351

Al f=1 9 § 1 9 U F99 F1 999A (truth
value) T (T) B2

Options:



416525941438,

415525341439,

41552341440,

416525941441

(PAQ)v(~R)

(~P)A(~QAR)
Pv(~QAR)
(~P) v (QAR)



